[ Electrolux

— ELECTROLUX OUTDOOR PRODUCTS
Service
brand | PARTNER date FEB/03 SHEET 1/3
Model Product number
P 4546 SDXE 9538781-26 9538780-24 9538783-38

K] The Electrolux Group.The world’s No.1 choice.



[ Electrolux
/S\

ervice

ELECTROLUX OUTDOOR PRODUCTS

brand | PARTNER

date FEB/03 SHEET 2/3

Model

Product number

P 4546 SDXE

9538781-26 9538780-24 9538783-38

Pos. PN ELX

PN MEP

I531205989I

1

2 531211477
3 531211452
9 531205169
10 531207165
1" 531204961
12 531208491
13 531205581
14 531211480
15 531211581
16 531211473
17 531211476
18 531211474
19 531204922
20 531211475
21 531205999
22 531205196
22 531206681
23 531207981
24 531207982
25 531204907
26 531210824
27 531205060
28 531205982
29 531205069
30 531205056
31 531211440
32 531205848
33 531208216
34 531206653
35 531205101
36 531205944
37 531208844
37 531208859
38 531205057
39 531205051
40 531210538
41 531205042
43 531210613
44 531210703
45 531206644
46 531207978
47 531205048
48 531207243
49 531211017
50 531207237
51 531208008

' 10146243I

10173043
10135891
10121470
10501200
10115900
20281800
10135600
10173060
10173103
10173003
10173033
10173013
10114200
10173023
10146330
10121700
10291000
20106200
20106300
10100900
10175400
10120530
10146211
10120653
10120460
10172971
10141313
20135720
10281400
10121090
10146093
20734900
20761300
10120473
10120290
10114801
10120090
09122041
09175111
10275100
20101700
10120200
10531700
10172770
10530900
20120580

DESCRIPTION

SHEATHING
HANDLE
LEVER
CABLE HOOK
NUT
WASHER
NUT

CLAMP
SCREW
PLATE
ADJUSTABLE DISK
SPRING
ADJUSTABLE DISK
WASHER
KNOP
SPRING
SCREW
SCREW
WASHER
NUT

KEY
WASHER

TIE ROD
DEFLECTORE
ROD

SPRING
DECK

COMPLETE CONNECTION

SCREW
COTTER PIN
REAR AXLE
SUPPORT
SCREW
WASHER
SUPPORT
AXLE

PLUG
SCREW
WHEEL
WHEEL
WASHER
NUT
SUPPORT
WASHER
BLADE
WASHER
SCREW

Q.ty

LS T A T o B A N S L\ I\ B N \* B o}

- N o

w o

L\ - \C SO \C B \\ By

- o b D MO N DD

-

NOTE

mm.600

M6 H6 UNI 5587-6S-ZB
6,5E
M6 H8 UNI7473-ZB
160X4,5
TTSQ M8x55 TF ZB

DX

SX
8x16x1,5 ZB

TE M8x35 UNI 5739-8,8-ZB
TE M8x60 UNI 5737-8,8-ZB
D.8E DIN 6798
M8 H8 UNI 5587-6S ZB
4x6,5 UNI6606 WODRUF
8E STARBLOC

D.1/2"
TCTC 2F D.5x16 AC
1,8 x33

TCTC 4,3x16 FIX ZB
D.12,4x17x0,3

D.190/26
D.170/26
UNI 8840-B12(13/24/0,8
M10 H8 UNI 5588-6S ZB

17,2x50x1,5+0,1

11x50x2,5
TE 3/8 UNFx37-8,8 1/2F ZB

K] The Electrolux Group.The world’s No.1 choice.



[ Electrolux

ELECTROLUX OUTDOOR PRODUCTS

Service
brand | PARTNER date FEB/03 SHEET 3/3

Model Product number
P 4546 SDXE 9538781-26 9538780-24 9538783-38
Pos. PN ELX PN MEP DESCRIPTION Q.TY NOTE

52 I531207986I ' 20107203 ' SHEATHING 1

53 531211436 10172913  SACK FRAME 1

54 531211518 10173093  SACK 1

55 531210617 10172700  MULCH-PLUG 1

56 531211184 10172820  SPRING 1

57 531205557 10135413  CABLE HOOK 1

58 531207856 10831800  SCREW 3 TEFR 5x10 ZB

59 531205047 10120183  BELT HOUSING 1

60 531207280 10548500  BELT 1 Z 27 3L 285

61 531204758 09767800  GEAR-BOX 1

62 531206182 10155210  SPRING 1

63 531207697 10766503  SPACER TUBE 1

64 531205108 10121160  KEY 2 "S" 5x5(-0,05)x19,2 DIAG

65 531205045 10120160  PINION 1 DX

66 531205046 10120170  PINION 1 SX

66 531207847 10831200  WASHER 2 D.12/34/0,7 ZB

67 531208772 20655800  SEEGER 6 D.12E DIN 471

68 531208778 20657600 BALL- BEARING 2 D.12/28/8 6001/2RS

69 531205139 10121263  ACCELERATOR LEVER 1

70 531205616 10135883  CLUTCH LEVER 1

71 531205596 10135710  SPRING 1

72 531205818 10140970  COVER 1

73 531205823 10140983  SCREW 2 TCTC 2F D.

74 531206666 10284700  WASHER 2 5/15/1,5 ZB

75 531207836 10830000 SCREW 1 TE M5x25 UNI 5739-8,8-ZB

76 531208492 20282100  NUT 1 M5 H7 UNI7473-ZB

77 531210568 10175401  DASH-BOARD 1

78 531210570 10175421  BATTERY COVER 1

79 531211141 10141500  ACCELERATOR LEVER 1 B&S

80 531211143 10141520  CLUTCH CABLE 1

81 531211145 10141540  BRAKE CABLE 1 B&S

92 531208844 20734900 SCREW 4 TCTC 4,3x16 FIX ZB

99 531200597 BS396291  SWITCH- KEY 1

100 531200903 BS991112  BATTERY 1 12V

101 531211256 BS991006 CABLE 1 1330 MM

102 531200904 BS991812 CHARGER 1

103 531207841 10830700  SCREW 2 TCTC D6x19 FIX
104 531207840 10830603  CABLE HOOK 1

K] The Electrolux Group.The world’s No.1 choice.



